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SN B GHR(S) - HRAY - BHES Oif &k o8 &%%5 e
b= AP A 1,470,000 1,060,860 409,140
S3ot=AlE £X & 22 1,470,000 1,060,860 409,140
St Ald2e| (St ArY) 28,659 30,199 A 1,540
St=& Ald 22| 28,659 30,199 A 1,540
101 el 24 Hl 8,379 8,379 0
04 JIZtH 22 S E+ 8,379 8,379 0
Odt==% HE AKX 8 &£ MH AR 34,9103 105 »2H x 122 8,379
201 gEt2Ed| 12,600 13,500 A 900
01 AtR2telH] 11,000 12,000 A 1,000
Odt=X AFZBAXA & =48 Rl 100& +5,00001 =12 6,000
Ot RAES 7 F(SI12 88) 3,000,000 * 14! 3,000
Odt== AIZ2E ZEIIE =72l 100& *5,00001 *22] 1,000
Odt=E 22X 2 JIZHNZ22X 2R=S 100,000& 23] «6H 1,000
02 SE5=24H 1,600 1,500 100
Ost=2ot=E&3l 3ldl 1,600,000& =13 1,600
202 044l 7,680 8,320 2640
01 S LHAbI 7,680 8,320 2640
Odt== HE & 232 HH 20,0003 »4H 8L 122 7,680
St=% AEMNS(St=ZALY) 860,526 620,644 239,882
ot=% A€ HE 860,526 620,644 239,882
401 Al EHIZ 2OHY| 860,526 620,644 239,882
01 Al Hl 855,000 616,000 239,000
Odt=E A4 sA2eoHe 2 THolChyl 21 700,000,000& 14! 700,000
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F A aot A
dM: 23 SAE X
SRl ot =S AlZIHS(BH chol &9l
CEHRI(E) - HRAY - B S Ao e 2t
Odt==xHeld Y 2= 16,0002 15,000m*1/4 60,000
Odt= HESAH & 150, 000& * 15094 x23| 45,000
Ogdot=E SHEZE 50,000,000 *1JH & 50,000
03 A€ = 01| 5,526 4,644 882
Oodt=E A& SXN 22 700,000,000& *0.63% 4,410
Odt==xel & Y 22 &4 155,000, 000& *0.72% 1,116
oibldl Z2el (st AL ) (St =S AtY) 580,815 410,017 170,798
olglgl2el (ot==S Aket) 580,815 410,017 170,798
801 oI bl 580,815 410,017 170,798
01 ollyl gl 580,815 410,017 170,798
Oollgltl 580,815,000& 580,815




